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GENERAL SCIENCE AND TECHNOLOGY

Part—1/¥FT-1
Marks — 30 / 3% - 30
AT TWHTH FA 15 U £ | UegE U HHOE £ | U e % o 02 FHE
Tyiea & |
Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

1 FEG TET 377 T TRHTUA I | [3T 9rET : 20 9]
Define unsaturated fatty acids. [Answer Limit : 20 words]
2 I S AT TYEERET Y e BT £ 7 [ST¢ 9 1 : 20 93]
How do the queen and worker honey bee develop ? [Answer Limit : 20 words]
3 HHGUWETE? [ST% | ; 20 v
What is acid rain ? [Answer Limit : 20 words]
4 N H TR0 AEHEH, T AGHaH & ® T H S S 2 [ST% 91 : 20 I=5]

Which Environment Act is also known as Umbrella Act ?
[Answer Limit : 20 words]

» T Y . S Y . = ~ -y [
5 Y AU % [ 69 I UFH HIEE P AAN BRI A1 E 7 [STC HE : 20 9]

Which “instrument” and ‘scale’ is used to measure earthquake ?
[Answer Limit : 20 words]|

6  STREUS THATT UEH FeTHOT AT % SEYd 1 E 2 [Z5% 9 ; 20 v
What are the objectives of Uttarakhand Rehabilitation and Reconstruction
Authority ? [Answer Limit : 20 words]|

7 I TR Sl Eal o A (A | [Z% 91 : 20 V=]

Write down the names of four renewable energy sources.
[Answer Limit : 20 words]

8 U AHE H TS F URHNT 2 "X x (.5 HieT &, S U 7 W T F | 579 39 97 80
2T T o1 TIIET ST &, 99 79 5§19 341 &0 2 [T 9T 20 9]
A wooden board of dimensions 2 metre x 0.5 metre is placed on a table. What will

be the pressure when a force of 80 Newton is applied on it ?
[Answer Limit : 20 words]|

9 TETeN ARH % WHHUT 1 HE Tl ST S 2 [5T 9T 20 =]
How is Ebola Virus Infection detected ? [Answer Limit : 20 words]
10 Tyl DNA F1 &1 & 2 [T 9 : 20 9=
What i1s recombinant DNA ? [Answer Limit : 20 words]

(2) PCS Main Exam-2012


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

11 S HER % YT [9ET aarsd | [T =1 : 20 =]
Give the basic principles of Satellite communications.  [Answer Limit : 20 words]

12 woemes, S HAEH [, R S E, ST AR F, S T8 a6 w2
[ZT = 20 v
Explain why lodine forms I3 ion, while Fluorine does not form F; ion ?
[Answer Limit : 20 words]

13 mﬁﬁ—ﬁ,ﬁﬁqdlﬁﬁugw TSHeTShl ohT W9 U8 HYEAT e | [== 9 20 7=
Write the name and structure of monomers used to prepare Nylon — 6, 6.
[Answer Limit : 20 words]

14 B3 UY GI9eesi § 3= 947 | [ST% |41 : 20 v
Distinguish between Hardware and Software. [Answer Limit : 20 words]

) d * £ o n
15 FEIET BT S HieT UF R § HA<R Iy | [ST% 9T ;20 v

Distinguish between sorting and filtering of computer data.
[Answer Limit : 20 words]

Part—2/\rT-2
Marks — 50 / 37 - 50
AT T UM H $A 10 U ¥ | U U e ¥ | Uegsh U & o 05 3
AYRa® |
Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

16  SEF HASTHE [H%H 1 TRHIUG ST | 21 3 fara= ieshion i S5 930 |
[ZTT I - 50 v
Define Database Management System along with different views of data.
[Answer Limit : 50 words]

17 HEIEET #i e & STER T UG S S HieT | [T = : 50 9=
Classify Chromosome on the basis of position of Centromere.
[Answer Limit : 50 words]

18 ST0T Sl 3RS FSRdT &% F1 R & 7 =9 59 THR gTTEheM T TFHAT & 7
[S7% | : 50 9=
What are the causes of temporary hardness of water 7 How can it be removed ?
[Answer Limit : 50 words]

19 T T oK HelE SFecel 991 BT & 2 STtk 91 i ST & F | [ST |47 : 50 vI=]
Why the free surface of water is concave ? While that of mercury is convex.
[Answer Limit : 50 words]
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20 3R IO I OHIGS ST U STIET IEA % T SUET B g a9 |
[ST 9 : 50 vies]
Define disaster mitigation and enlist major mitigation approaches.
[Answer Limit : 50 words]

21 TS I T HIF S T & ? [T H THF &0 F THH T % S FATsT |
[S97 971 : 50 9=5]
What is the casual organism of Swine-flue ? Discuss its symptoms and preventive
measures in brief.
[Answer Limit : 50 words]
22 HEF TS 9 AT T GES E 2 (5T |4 : 50 w5
What do you understand by carbon foot prints ? [Answer Limit : 50 words]
23 &2 FIE HME ? [So |4 : 50 9]
What is B.T. Cotton ? [Answer Limit : 50 words]|
24 SSAERT. (YETT JEAT HUTET) i ST 9T UHRT Sierd | [SoT 97 : 50 915
Outline the uses of G.I.S (Geographical Information System)
[Answer Limit : 50 words]
25  SITIEE. ¥ AT 99 GHI & 2 -SSRl Wed JEEET | [S=% @ : 50 9]
What do you mean by G.P.S. ? lllustrate with examples. [Answer Limit : 50 words]
Part-3/9¥rT-3
Marks — 40 / 3% — 40
AT TE YT H & 07 U ' | ST THRT 05 UUET % ST § | Uedsh WY % T 08
Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.
»6 3272 % SR B9, S-AY., TS UF UH-SH1HE o STENT 1 fagd Jui it |

[ET 94 ; 125 95
Explain in detail E-mail, E-commerce. Searching and M-commerce applications of
Internet. [Answer Limit : 125 words]

27 BN o9 %1 TEEAT T AEIHS o T91 | o5 F S 3T9RdT 9 AT 3= 9HId
& ? BT oToIh % bW WIT § & SATHSHATT &7l & 2 [T = 125 v
Draw well labelled diagram of ultra structure of chloroplast. What do you mean by
light and dark reaction ? In which part of chloroplast do these reactions take

place ? [Answer Limit : 125 words]
28 U = U W ST [O¥EA £ 7 U2 o Tara—T 3Taadr &7 Je o0 Hi |

[S% 9 125 vr=s]
What are the characteristics of a good paint 7 Describe briefly, different

components of a paint. [Answer Limit : 125 words]
29 AE=TART H B2 HI ST Sl ST FISAT | [ST7 9 125 9=
Explain the formation of holes in semiconductors. [Answer Limit : 125 words]
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30 O SR W ORI W =0 &9, FenE T & UEE U Wl Shene | [S9Y |E 0 125 3]
Elaborate on Watershed Management giving special emphasis on sustainable
development. [Answer Limit : 125 words]
31 U AT TS WITEEh0T FRT Halfeld farg=T A3l =T a0 5L |

[S9% 9T : 125 9=
Describe various programmes of National Disaster Management Authority.
[Answer Limit : 125 words]

32 I ST ORI HIeTT 99T 7T o v R S Aot [EaieT U o SR
T TS | [T 9T : 125 91=5]
Define vaccine and enlist various types of vaccines used for human beings.

[Answer Limit : 125 words]

Part — 4/ 90T -4
Marks — 80 / 3= — 80
|AT:  TH 9 H BT 07 USH F | 3l (el 05 U9ET % ST T | Wedsh U9 % e 16
o FYNT 7 |
Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

33 ISO-OSI %~ H1s T U HI=T | [SoT 9rE1 : 250 955
Explain ISO-OSI reference model. [Answer Limit : 250 words]

34 TEE T E 7 WA i SRR AT S T HET A WS S T Hias! HT au
FRT | [T 9T 250 9=5]
What is digestion ? Describe physiology of protein digestion in various parts of the
alimentary canal of mammals. [Answer Limit : 250 words]

35 Tof9= ORI =5 =0T T E ) T S Shi (ATd 5h S0 SHIETT | [Z97 9T : 250 =]

What are different types of salts ? Describe the method of their preparation.
[Answer Limit : 250 words]

36 e W H SeUEl REHIET 9T WO BiOT & 2 SSELvl Sied SHE |
[ST% 9T : 250 w5
Why a step-up transformer is used at Power station ? Explain with example.
[Answer Limit : 250 words]

37 oS STHET ST E 2 S ST 9 EmeT AT | [S=iT 9ET : 250 9r=g]
What are transgenic animals 7 Write a note on their applications.
[Answer Limit : 250 words]

33 TE-ERE TREE, #Ra i ® g8 9@ B UH UHE GEET £ | 39d B0 % 91g

T F T HT [ST% 91 ; 250 =]

Soil health deterioration is a major second generation problem of green revolution.

Substantiate the statement with suitable reasons. [Answer Limit : 250 words]
39 YRAR™ T U W Hay ey | [S7 =T : 250 9=

Write an essay on Indian Space Programme. [Answer Limit ; 250 words]
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